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Differentiation 9C  

1 a 4(1 2 )y x    

  Let 41 2 ;   then u x y u     

  
d

2
d

u

x
     and    3d

4
d

y
u

u
  

  Using the chain rule, 

  3 3 3d d d
4 2 8 8(1 2 )

d d d

y y u
u u x

x u x
        

 b 2 5(3 2 )y x     

  Let 2 53 2 ;   then u x y u     

  
d

4
d

u
x

x
      and    6d

5
d

y
u

u

   

  Using the chain rule, 

  

6 6

2 6

d d d
( 5 ) ( 4 ) 20

d d d

20 (3 2 )

y y u
u x xu

x u x

x x

 



      

 

 

 

 c 
1
2(3 4 )y x    

  Let 
1
23 4 ;   then u x y u    

  
d

4
d

u

x
     and    

1
2

d 1

d 2

y
u

u


  

  Using the chain rule, 

  

1
2

1 1
2 2

d d d 1
4

d d d 2

2 2(3 4 )

y y u
u

x u x

u x



 

   

  

 

 

 

 

 

 

 

 

 

 

 

 

 d 2 7(6 )y x x   

  Let 2 76 ;   then u x x y u     

  
d

6 2
d

u
x

x
      and    6d

7
d

y
u

u
  

  Using the chain rule, 

  

6

2 6

d d d
7 (6 2 )

d d d

7(6 2 )(6 )

y y u
u x

x u x

x x x

    

  

 

 e 
11

(3 2 )
3 2

y x
x

  


 

  Let 
11

3 2 ;   then u x y u
u

     

  
d

2
d

u

x
     and    2d

d

y
u

u

   

  Using the chain rule,  

  

2

2

2

d d d
2

d d d

2
2

(3 2 )

y y u
u

x u x

u
x





    


  



 

 f 
1
27 (7 )y x x     

  Let 
1
27 ;   then u x y u    

  
d

1
d

u

x
      and    

1
2

d 1

d 2

y
u

u


  

  Using the chain rule, 

  

1
2

1
2

d d d 1
( 1)

d d d 2

1 1
(7 )

2 2 7

y y u
u

x u x

x
x





    

    

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1 g 44(2 8 )y x   

  Let 42 8 ;   then 4u x y u    

  3d d
8   and     16

d d

u y
u

x u
   

  Using the chain rule, 

  3 3d d d
16 8 128(2 8 )

d d d

y y u
u x

x u x
       

 h 63(8 )y x    

  Let 68 ;   then 3u x y u    

  7d d
1   and     18

d d

u y
u

x u

     

  Using the chain rule, 

  7 7d d d
18 ( 1) 18(8 )

d d d

y y u
u x

x u x

          

2 a cose xy    

  Let cos ;   then euu x y   

  
d d

sin    and   e
d d

uu y
x

x u
     

  Using the chain rule, 

  
cos

d d d

d d d

e ( sin ) sin eu x

y y u

x u x

x x

 

    

  

 

 b cos(2 1)y x    

  Let 2 1;   then cosu x y u    

  
d d

2   and   sin
d d

u y
u

x u
     

  Using the chain rule, 

  
d d d

sin 2 2sin (2 1)
d d d

y y u
u x

x u x
          

 

  

 

 

 

 

 

 

 

 

 c lny x   

  
1
2Let ln ;   then u x y u u    

  
1
2

d 1 d 1
   and   

d d 2

u y
u

x x u


     

  Using the chain rule, 

  

1
2

1
2

d d d 1 1

d d d 2

1 1

2 ln2

y y u
u

x u x x

x xxu

  
     

 

 

 

 

 d 5(sin cos )y x x    

  5Let sin cos ;   then u x x y u     

  4d d
cos sin    and   5

d d

u y
x x u

x u
     

  Using the chain rule, 

  

4

4

d d d
5 (cos sin )

d d d

5(cos sin )(sin cos )

y y u
u x x

x u x

x x x x

    

  

  

 

 e 2sin(3 2 1)y x x     

  2Let 3 2 1;   then sinu x x y u      

  
d d

6 2   and   cos
d d

u y
x u

x u
     

  Using the chain rule, 

  
2

d d d
cos (6 2)

d d d

(6 2)cos (3 2 1)

y y u
u x

x u x

x x x

    

   

  

 

 f ln(sin )y x   

  Let sin ;   then lnu x y u    

  
d d 1

cos    and   
d d

u y
x

x u u
    

  Using the chain rule, 

  
d d d 1 cos

cos cot
d d d sin

y y u x
x x

x u x u x
        

 

 g 
cos42e xy    

  Let cos4 ;   then 2euu x y    

  
d d

4sin 4    and   2e
d d

uu y
x

x u
     

  Using the chain rule, 

  
cos

d d d
2e ( 4sin 4 )

d d d

8sin 4 e

u

x

y y u
x

x u x

x

    

 
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2 h 2cos(e 3)xy     

  2Let e 3;   then cosxu y u     

  2d d
2e    and   sin

d d

xu y
u

x u
     

  Using the chain rule, 

  

2

2 2

d d d
sin 2e

d d d

2e sin (e 3)

x

x x

y y u
u

x u x
    

  

  

 

3 
2

1

(4 1)
y

x



 

 Let 24 1;  then u x y u     

 3d d
4   and  2

d d

u y
u

x u

    

 3

3

d 8
8

d (4 1)

y
u

x x

 
   


 

 

 
3 3

1
4

1
When ,

4

d 8 8
1

d 24 1

x

y

x



 
   

 

 

4 3(5 2 )y x    

 3Let 5 2 ;  then u x y u    

 2d d
2   and   3

d d

u y
u

x u
    

 Using the chain rule, 

 2 2d d d
3 ( 2) 6(5 2 )

d d d

y y u
u x

x u x
          

 

 
3 2

When 1,  

d
3 27  and  6 3 54

d

x

y
y

x



      
  

 

 Equation of tangent at point P (1, 27) is 

 27 54( 1)y x      

 or 54 81y x     

 

 

 

 

 

 

 

 

5 
3
2(1 ln 4 )y x   

 
3
2Let 1 ln 4 ;  then u x y u     

 
1
2

d 1 d 3
   and   

d d 2

u y
u

x x u
   

 Using the chain rule, 

 
1
2

d d d 3 1 3
1 ln 4

d d d 2 2

y y u
u x

x u x x x
        

 

 

3

3 3

3 31
2

1
When e , 

4

d 3 6
1 ln e 1 3 12e

d e e

x

y

x





    

 

 

6 a 2x y y    

  
d

2 1
d

x
y

y
    

  
d 1 1

dd 2 1

d

y

xx y

y

  


  

 

 b e 4yx y    

  
d

e 4
d

yx

y
    

  
d 1 1

dd e 4

d

y

y

xx

y

  


  

 

 c sin 2x y   

  
d

2cos 2
d

x
y

y
   

  
d 1 1 1

sec2
dd 2cos 2 2

d

y
y

xx y

y

      

 

 d 
34 lnx y y    

  
31 1

ln
4 4

x y y   

  
3

2d 1 3 1 3

d 4 4 4

x y
y

y y y


     

  
3

d 1 4

dd 1 3

d

y y

xx y

y

  

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7 23 2x y y   

 
d

6 2
d

x
y

y
   

 
d 1 1

dd 6 2

d

y

xx y

y

 


 

 At (8, 2) the value of y is 2. 

 
d 1 1

d 12 2 10

y

x
  


 

8 
1 1
2 2x y y


   

 
31

2 2
d 1 1

d 2 2

x
y y

y

 
 

 

 
31

2 21 1
2 2

d 1

d

y

x y y
 




 

 At the point 
5

,4
2

 
 
 

 the value of y is 4. 

 

31
2 2 1 1 1 11 1

2 2 2 82 2

31 1
4 16 16

d 1 1

d (4) (4)

1 1 16

3

y

x  
  

  

  


 

9 a eyx    

  
d

e
d

yx

y
    

 

 b ln   eyy x x     

  From part a, 
d

e
d

yx

y
  

  
d 1 1 1

dd e

d

y

y

xx x

y

      

 

 

 

 

 

 

 

10 a 4cos2x y   

  
1

When 2, cos 2
2

x y    

  

π 5π
So 2 , , ...

3 3

π 5π
, , ...

6 6

y

y





  

  Hence Q 
π

2,
6

 
 
 

 lies on C. 

 

 b 
d d 1

8sin 2   
d d 8sin 2

x y
y

y x y
      

  

π
At ,

6

d 1 1 1
so  

πd 3 4 38sin 8
3 2

Q y

y

x



     



 

 c Equation of normal to C at Q is 

  
π

4 3( 2)
6

y x     

  or 
π

4 3 8 3 0
6

x y      

 

11 a 2 2sin 3 (sin3 )y x x    

  2Let sin3 ;  then u x y u    

  
d d

3cos3    and   2
d d

u y
x u

x u
    

  Using the chain rule, 

  

d d d
2 3cos3

d d d

6sin 3 cos3

y y u
u x

x u x

x x

   



 

 

 b 
2( 1)e xy    

  2Let ( 1) ;  then euu x y     

  
d d

2( 1)   and   e
d d

uu y
x

x u
     

  Using the chain rule, 

  
2( 1)d d d

e 2( 1) 2( 1)e
d d d

u xy y u
x x

x u x

        
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11 c 2ln (cos )y x   

  2Let cos ;  then ln 2lnu x y u u    

  
d d 2

sin    and   
d d

u y
x

x u u
     

  Using the chain rule, 

  

d d d 2
( sin )

d d d

sin
2 2 tan

cos

y y u
x

x u x u

x
x

x

    

   

 

 

 d 
1

3 cos 2
y

x



  

  
11

Let 3 cos 2 ;  then u x y u
u

      

  2

2

d d 1
2sin 2    and   

d d

u y
x u

x u u

        

  Using the chain rule, 

  
2

2

d d d 1
( 2sin 2 )

d d d

2sin 2

(3 cos 2 )

y y u
x

x u x u

x

x

     




 

 

 e 
1

siny
x

 
  

 
  

  
1

Let ;  then sinu y u
x

    

  
2

d 1 d
   and   cos

d d

u y
u

x x u
     

  Using the chain rule, 

  

2

2

d d d 1
cos

d d d

1 1
cos

y y u
u

x u x x

x x

 
     

 

 
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

12 
2

4

(2 4 )
y

x



  

 
2

2

4
Let 2 4 ; then 4u x y u

u

      

 3

3

d d 8
4   and   8

d d

u y
u

x u u

        

 Using the chain rule, 

 
3 3

d d d 8 32
( 4)

d d d (2 4 )

y y u

x u x u x
      


 

 
2

4
When 3,  0.04

( 10)
x y  


  

 
3

d 32
and 0.032

d ( 10)

y

x
  


 

 Equation of normal at A is 

 
1

0.04 ( 3)
0.032

y x    

 Multiplying through by 100 and rearranging 

gives 

 
100 4 3125 9375

3125 100 9371 0

y x

x y

  

  
  

 

13 
3

3xy   

 3Let ;  then 3uu x y   

 2d d
3   and  3 ln3

d d

uu y
x

x u
    

 Using the chain rule, 

 
32 2d d d

3 ln3 3 3 3 ln3
d d d

u xy y u
x x

x u x
      

 
32 1d

When 1, 3 1 3 ln3 9ln3
d

y
x

x
        
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Challenge 

 

a siny x  

 
1
2Let ;  then sinu x x y u     

 
1
2

d 1

d 2

u
x

x


   

 
1
2Let sin ;  then v u y v v    

 
1
2

d d 1
cos   and  

d d 2

v y
u v

u v


   

 

 Using the chain rule, 

 

1
2

d d d 1
cos

d d d 2

cos cos

2 2 sin

y y v
v u

u v u

u x

y x


   

 

  

 

 Using the chain rule again, 

 

1
2

d d d cos 1

d d d 22 sin

cos

4 sin

y y u x
x

x u x x

x

x x


   



  

 

b 3ln sin (3 4)y x    

 Hence
3sin (3 4)e xy    

 
3

Let sin (3 4);  then euu x y     

 
d

3cos(3 4)
d

u
x

x
   

 3Let ;  then evv u y   

 2d d
3   and  e

d d

vv y
u

u v
   

 

 Using the chain rule, 

 
32 2d d d

e 3 3 e
d d d

v uy y v
u u

u v u
      

 

 Using the chain rule again, 

 

3

3

3

2

2 sin (3 4)

sin (3 4) 2

d d d
3 e 3cos (3 4)

d d d

3sin (3 4)e 3cos (3 4)

9e cos (3 4)sin (3 4)

u

x

x

y y u
u x

x u x

x x

x x





    

   

  

 

 


